M4.55 MA4.56 Turbocompressor Turbo compressor
pos. qty part benaming description
@ 1 STM7493 Turbo compressor Turbo compressor
@ 1 STM7451 Uitlaat adaptor Exhaust adapter
@ 1 STM7470 Pakking Gasket

4 3 STMA4525 Cilinderkopschroef M8x25 Allen screw M8x25
@ 1 STM7471 Pakking Gasket
@ 4 VD20158 Tapeind M8x25 warmte vast Stud M8x25

7 8 VD20163 Ring M8 warmte vast Washer M8

8 8 VD20165 Moer M8 warmte vast Nut M8
@ 1 STM7476 Pakking Gasket

10 1 STM7450 Uitlaat injectiebocht @ 50 Exhaust injection elbow @ 50
1 08-01011 Uitlaat injectiebocht @ 60 Exhaust injection elbow @ 60
@ 1 STM2019 Afdichtring M18 Seal washer M18
@ 1 STM2006 Temperatuur schakelaar 75°C Thermo switch 75°C
@ 1 stM7452  Slang Hose
2 STM2012 Slangklem 19-28 Hose clamp 19-28

1 STM9872 Turbo isolatiekast Turbo insulation case

16 2 STMA4055 Bout M8x15 Bolt M8x15

17 2 STM1653 Ring M8 Washer M8

18 4 STM9712 Tapeind Stud
1 STM3071 Afdichtstop G3/8 Plug G3/8

ﬂ”] m 341831.02r18 2022-01 PC M4.55_M4.56

2-25



